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307 2Iz2t0| & 26,000 20,000 6,000
= 6,500
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2N FUSTA
Mo mojol =X =
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 1,036,985 949,754 87,231
= 725,889
& 93,329
= 217,767
01 Al E & X 462 1,036,985 949,754 87,231
OHMAZ X & 1,036,985
= 725,889
= 93,329
= 217,767
LS (IIxE) N2 100,227 102, 140 A 1,913
= 70,159
= 12,027
= 18,041
301 dEtE M= 100,227 102, 140 A 1,913
= 70,159
& 12,027
= 18,041
01 Al B & X 262 100,227 102, 140 A 1,913
OXMHEE X (I=x) 100,227
= 70,159
= 12,027
= 18,041
xS (XA S) X3 139,350 143,709 N4 ,359
= 97,545
& 16,722
= 25,083
301 et M= 139,350 143,709 N4 ,359
= 97,545
o= 16,722
= 25,083
01 AISIE& A %52 139,350 143,709 N4 ,359
OZMHLEH (XA S) 139,350
= 97,545
& 16,722
= 25,083
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= 127,511
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= 76,507
101 2124 H] 255,022 173,523 81,499
= 127,511
& 51,004
= 76,507
04 JI2ZtHIZ22NEE S 255,022 173,523 81,499
OOl Xl X (LertsdxtelelAd]) 233,396
= 116,698
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Mo mojol =X =
Sl HoHoI=X B (B9 ®R)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 2,030 0 2,030
< 609
s 1,421
01 MEI2EZE 45z 2,030 0 2,030
OZOHQl otolAE2I| XA 2,030
< 609
s 1,421
AZEe EXns X 3,263 3,263 0
< 979
e 2,284
307 glz2+ol & 3,263 3,263 0
< 979
e 2,284
11T MISAASER 3,263 3,263 0
OAZZ0He HEXtws 3,263
< 979
s 2,284
HOHQUMEOISKRAME 2HHl X 140,100 132,602 7,498
= 28,020
i 112,080
307 2I2+0 & 140, 100 132,602 7.498
< 28,020
[ia 112,080
10 AL SXNAIEEE2EHEX 140,100 132,602 7,498
OZMAMEOSXNHAEH 29 140,100
< 28,020
i 112,080
ZOHQHE0IsSXNALE SAXN EE=EXR 5,400 5,400 0
= 1,620
s 3,780
307 glz2tol & 5,400 5,400 0
S 1,620
s 3,780
10 AL SXAIEEE2EH EX 5,400 5,400 0
OZOMAMEOISKNALEH BSAX SE€+ 5,400
= 1,620
s 3,780
THSIHH 2L 108,416 101,461 6,955
< 21,683
[ia 86,733
307 21201 A 108,416 101,461 6,955
= 21,683
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10 AL SXAIEEE2GHEX 108,416 101,461 6,955
OFMe =HSAdH =29 108,416
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s 3,024
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s 14,000
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